
2024 Po MATHEMATICS PRACTICE PAPER 3 

Name: __________ ( ) Date: 8 May 2024 

Class: Primary 6 ( ) Duration: 1 hour 

Parent's Signature: _______ _ Marks: / 100 

Paper 1 comprises 2 booklets, A and 8. 

MATHEMATICS 

PAPER 1 

(BOOKLET A) 

INSTRUCTIONS TO CANDIDA TES 

1. Write your name, class and register number.

---

2. Do not turn over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

20 

5. Use a 2B pencil to shade your answers on the Optical Answer Sheet (OAS).

6. The use of calculators is NOT allowed.
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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. Questions can be found at the end of the worksheet. 
 
   
1. a)  2385 

 b)  3852 

 

 
2. a)  Ming 

 b)  14.2 

 

 

3. u + 8 + u + 2u = 64 

 4u + 8 = 64 

 4u = 56 

 u = 14 

 

 

4. First 1 km = $3.20 

 Remaining 4.8 km = 4800 ÷ 400 x 0.22 

 = $2.64 

 1 min waiting = 0.22 x 2 = $0.44 

 $3.20 + $2.64 + $0.44 = $6.28 

 

 

5. Top half = ½ x 
3

5
 = 

3

10
 

 Bottom half = ½ x ½ = ¼  

 
3

10
 + ¼ = 

11

20
 

 
11

20
 → 165 cm2  

 
20

20
 → 165 ÷ 

11

20
  = 300 cm2 
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6. a)  ∠x = 180 – 51 – 41 = 88° 

 b)  ∠a = 180 – 88 = 92° 

 ∠y = 180 – 92 – 31 = 57° 

 

 

7.    Gold Star  Silver Star 

 Given  away  26   14 

 Remainder  1u   3u  

    6   18   if u = 6 

 Number at first 26 + 6   14 + 18 

    = 32   = 32 

 Total at first  = 32 + 32 = 64 

.         

         Ans:  64 

 

 

8. a) 

    Adult  Boys  Girls 

 Friday   7  6  5 

 Saturday  7   6 x 150% 5 x 60% 

    7  9  3 

 Ratio on Saturday = 7:9:3 

 b) 

 Friday, 6u + 5u = 627  

 11u = 627 

 u = 57 

 Number on Saturday = (7 + 9 + 3) x 57 = 1083  

 
Ans:  a)  7:9:3 

 b)  1083  
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9. a) 

 ∠ABD = ½ x (180 – 106) = 37° 

 b) 

 ∠ADF = 37° 

 ∠GCB = 180 – 76 = 74° 

 c) 

 ∠FDE = 180 – 106 – 37 = 37° 

 ∠DFE = 180 – 37 – 126 = 17° 

 ∠EFB = 180 – 17 = 163° 

 

Ans:  a)  37° 

 b) 74° 

 c)  163° 

 

10. a) 

 150 + 175 + 25 = 350 

 b) 

 Blue 

 c)  

 
105

125
 x 100% = 84% 

  

 

 

 

 
Ans:  a)  350 

 b)  Blue 

 c)  84% 
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11. a) 

 Machine P pages = 7 x 60 x 2 = 840 

 Machine Q pages = 8 x 60 x 7 ÷ 5 = 672 

 Total = 840 + 672 = 1512 

 b) 

 Time taken in Machine Q = 1512 ÷ 7 x 5 = 1080 sec 

 = 1080 ÷ 60 = 18 min 

 

   

 

 

 
Ans:  a)  1512 

 b)  18 min 

 

 
12. a) 

 Perimeter of unshaded part = 
90

360 
 x 2 x 3.14 x 15 x 2 = 47.1 cm 

 b) 

 Area of quarter circle = 
90

360 
 x 3.14 x 15 x 15 = 176.625 cm2 

 Area of half square = ½ x 15 x 15 = 112.5 cm2 

 Area of half lip shape = 176.625 – 112.5 =  64.125 cm2 

 Area of full lip shape = 65.125 x 2  = 128.25 cm2 

 Area of shaded ABCD = 15 x 15 – 128.25 = 96.75 cm2 

 Area of 2 x ¾ of circle = 
3

4 
 x 3.14 x 15 x 15 x 2 = 1059.75 cm2 

 Total shaded area = 1059.75 + 95.75 = 1156.5 cm2 

Ans:  a)  47.1 cm 

 b)  1156.5 cm2 
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15. a) 

 Distance  = 9 + 7 + 7 + 7 = 30 cm 

 b) 

 198 – 9 = 189 

 189 ÷ 7 = 27 

 Number of rings = 27 + 1 = 28   

    

      

            

        Ans:  a)  30 cm 

          b)  28  

 

 

16. a) 

 (15 x 25 – 279) ÷ 6 = 16 cm2 

 b) 

 Perimeter of F1 = 25 + 15 + 25 + 15 

 = 80 cm 

 Perimeter of P2 = 80 + 54 = 134 cm 

 134 – 25 – 25 = 84 cm 

 2 sides of triangle = 84 ÷ 6 = 14 cm 

 3rd side of triangle = 15 ÷ 3 = 5 cm 

 Perimeter of 1 triangle = 14 + 5 = 19 cm 

 

 

 

 

         Ans:  a)  16 cm2 

          b)  19 cm 
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17. a) 

 Let cost of 1 blouse = u 

 Cost of 2 blouse = 2u 

 Cost of 1 dress = 3u 

 Total cost of 2 blouse & 1 dress = 5u 

 Fraction of 1 blouse cost = 
1𝑢

5𝑢
 x  

1

6
 = = 

1

30
 

 b) 

 Fraction of watch cost = 
3

4
 x 

5

6
 = 

5

8
 

 Fraction of dress cost = 
3𝑢

5𝑢
 x 

1

6
 = 

1

10
 

 Ratio of watch cost to dress cost = 
5

8
 : 

1

10
= 25 : 4 = 25p : 4p 

 Difference = 25p – 4p = 21p = $220.5 

 p = 220.5 ÷ 21 = 10.5 

 Cost of dress = 4p = 4 x 10.5 = $42 

 
1

10
 → $42 

 
10

10
 → 42 x 10 = $420 = Money at first 

          Ans: a)  
1

30
 

          b)  $420 

 

 




